Angles - Answers
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Key Stage 2: 2011 Paper A L6

1.

im

Indicates No and gives a correct explanation

eq

= The angles are not the same size

= Aregular pentagon books like this, Q
with itz angles all the same size

= All the angles should be 108°

» |t doesn’t have rotation symmetng

= |ts got more sides than a square so all its angles
should be abtuse, but they're not

Shows that the 150° angle can e splitinto
P0F and 60°

ar
Divides the pentagon vertically and shows that
half @ i= 30°

ar

Draws triangles 1o show a rectangle, labelling the
ncn-right angles on st kest one side comectly
eq

il

ar

of

Shows ar implies that the angle sum of & pentagon
is 540°

¥ Minimally acceptable explanation

&g

= 00z 150

= Different angles

* A regular pentagon doesn't have right angles
it

* A reqular one can’t have 1507 angles

= |t doesn't look the same when it's turned

= Mot all the angles are obtuse

! Ineorrect angle size for a regular pentagon

given

Condene alongside a correct response

eg, accept

* The angles are different, they should be
&0° farror, but afl equal implied)

* The angles should all be 707 {errov)

eg, do not accept

= The 90" angles should be 80° [does not imply
the angles should all be the same]

= [ncomplete explanstion
eg
* Mot the same

* [t has two right angles
= Two angles are the sanme
* A regular pentagon books like this

= A regular pentagon doesn't have any
wertical lines

| Indicates Yes, or ne decision made, but
explanatien elearly correct
Condane provided the explanation is mone
than minimal
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AANDD

2012 Paper B L6

As evidence of a corract method, in either part,
shows or implies that the angles in one of the

triangles are a, band b

eq, in the first question part

+ 80, 50, 50 seen

« (180-80)+2

« (380-180)+2+2

eq, in the second question part
+ 180-2x 80

* (340-140x2)+2

ag, cofect answers transpcsed

2013 Paper B L6

Completes all three rows correctly, eg:

-
Jem 3cm | 15cm | 15cm
Qo 9cm 9cm 9cm
kite 10cm | 10em | 8cm Bem

Completes two rows comectly

1m Letters may be given in either order.
1m

1m

im ! Incomplete or ne working shown

Provided at least one cormect angle is eredited,
award this mark

! In the second question part 80, 80, 20 is
insufficient without any indication of the
position of the equal angles

2m !  Measures
See guidance (page 7)

¢  Side lengths in each row may be given
in any order

« Accept correct values with cm omitted eqg,
for the rectangle:

=15 3 15

im



Key Stage 2: 2013 Paper B

1.

21

Award TWO marks for correct answer of 170°
If the answer is incorrect, award ONE mark for
evidence of an appropriate method, eg:
m 50+50+90=190

360 —190
OR
m 360-50-50-90

Key Stage 2: 2014 Paper A L6

1.

150 and [ = 110

F or I comect
OR

Shows or implies a complete, correct method for
baoth angles, eg:

« 40+ 50 + 50 = 180 ferror)
360 - 50 - 50 - 50 = 210
180 - 50 = 130

Up to 2m

im

Answer need not be obtained for the award
of OMNE mark.

¢+ Values must be unambiguously associated
with the correct letter for the award of 2m
or im

! Answers for r and ! transposed
if ris 110 and 1 is 150, then award 1m

! Foliow-through from incorrect base angle
seen on the diagram
Award 1m if both » and ¢ correctly follow
through from an incorrect angle seen at base
of an isosceles triangle, eg:

r=360-180= 180
I=180-60=120



Key Stage 2: 2014 Paper A

1.

8 Correct angle indicated as shown:

Key Stage 2: 2015 Paper AL6

1.
12 Completes all four rows of the table comectly, eg:
90 45° 45°
: 20° 10°
7 70° 40°
55° 55°

Completes three rows correctly

Key Stage 2: 2015 Paper A

1.

20b 34

Key Stage 2: 2015 Paper B
1.

5 2 AND 4

im Accept alternative unambiguous indications, eg
comrect angle crossed or circled.

2m v Angles within a row in either order
v The bottom two rows may be given in
either order
!  Condone omission of degree signs

! For 2 marks, do not accept correct angles
in 3™ row repeated in 4" row, in either

order

or

im

im

im If the answers to a and b are incorrect, award
OME mark if their a plus their b = 90°, provided
that b is not 45°, 30° or 60°.

1m Accept alternative unambiguous indications, eg

right angles marked on diagrams.



Key Stage 2: 2016 Paper 2 Reasoning - Sample
1.

15 | Award TWO marks for the correct answer of Up to

104° 2m
If the answer is incorrect, award ONE mark Answer need not be obtained for the
for evidence of an appropriate method, e.g. award of ONE mark.

* 180-38-38=2a

Key Stage 2: 2016 Paper 3 Reasoning - Sample

1.

15 | A quadrilateral with three acute angles, e.g. 1m Accept inaccurate drawing provided the
intention is clear.




Key Stage 2: 2016 Paper 2 Reasoning
1.

17a | 160
17b | 20

1m

1m If the answers to a and b are incorrect,
award OME mark if a + b = 180° unless
b is between 33° and 37° inclusive, or 90°

Key Stage 2: 2016 Paper 3 Reasoning

1.

7a | cANDe

7b | a ANDd

im Letters may be given in either order.

im Letters may be given in either order.

Key Stage 2: 2017 Paper 2 Reasoning
1.

16 | 540

1m

Key Stage 2: 2017 Paper 3 Reasoning

1.

13 | The correct shape circled as shown:

1m Accept alternative unambiguous positive
indications, e.g. shape ticked.




Key Stage 2: 2019 Paper 3 Reasoning

1.

13

An explanation that includes a correct
counter example, e.g.

* When you double 10° it is not obtuse
o 2x27° =54
* Double 45° is a right angle not obtuse

OR

An explanation that demonstrates where the
statement in the question is not correct, e.q.

+ |f the acute angle is less than 45° then
doubling it will be less than 80°, so it
won't be obtuse (more than 90°).

im

Do not accept vague or incomplete
explanations, e.g.
+ Sometimes it will be acute

+ Some acute angles are half an obtuse
angle, but not all

+* When you double an acute angle, you
get a right angle

Do not accept explanations which
include incorrect mathematics or incorrect
information that is relevant to the
explanation, e.g.

¢ 20°C x 2 =40°C
o 20% x2=40%




